Homework 8

Saturday, December 1, 2018 11:32 AM
. Suppese R s a unital ring that s n& mcessm\a Commutbabive .

o

Prove thot 1 is a both sided ideal of M. (R) # and On‘a it

~

T oM (T) or ome bobh sded el T o R .

C(Re_mmr_[q. Foot o-.? Hhis resutt 3&/\3'{7 neads o lo\'[7 o{@f‘no\{w‘er\c:e, corth

WT}’H‘X CmemJa{Eongj )Dl/\_k' I{' s 4n I'nrror\%n't t‘esul‘k. lh Tav‘%\tmlo\{‘, l"[,'

Shocds 'H«o\‘\i MHC(D has o (‘mr\)er Non—ze(o ]oaH\ Sl‘o(QcLeo‘ \‘c{eml.)

(Hf_h‘l‘el_e% e%.a.eManQ S:'E- ‘H'\e, 'L',g‘ ehjffa U:P e\g IS i O\Y\ol

o B ek,
the other enmes Gre O . hen eva. ek,[ :SL a*k

el"i

c)

o, for a:[o\”] , G ey = % 0\,1.3. ekhen'a' ST

=% Sy

e Lot J__;zglee(D\ \ X is On ewl:\'a a_e an e(emen‘lf . E% )

2. Su]yrose. CR IS Qa um+a| COMMM".'OA'I‘V% rlha.

neZ"
n .
@) Tor ®e Sf‘u.((m, let LA = 3 ‘_Zz.oa"’x' cRx2 ‘ O\;G)“ag.

RIx1 —> (Rr,0)
. _ LA
Prove that wlxde Sqe (RIT) (Hik Use 2o D ()
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B Prove that Nl (RA)= NilR) ], cohere oo
. Zo
N'\(R)tx}:%nzo\;x'e‘kbd\a;eN.’lCR\, heZ 3.

&) Pove that
R =3 & ox+-+0.% |aeR,a, oeNil®,%.
-‘-
nez

3. Convience tdwrse{iq ‘H\m‘l/' @[(2_3 = %0\+~‘Z lo ‘O\,Le @}
3 o Subn-ng £ R. Lt $: @QEHZI—M (@),

Par@h = [ ],

2b a

Prove that b i & ring L\omommFL\l'sm ond  deduce Huf
Lzl [, “llabeal

Let I be +the ided 3enemécccl 1"3 2 ond x in ZTod.

e that T s not o pancipal ideal.

Let o= 2305 0] Z [w]=Sa+ba|abeZ } . Convience

2

ursel? that ZLs] 5 o SuL,mg 4 C.

Let N@a+bw):= @+b)(o+b ) . Convience HourseH' Hhat

N(z,z)= N&) NZ) omd N(arab)= 0% ab b
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Pove thit Vz,2,¢ ZLid, g, reZIu] st.

4

o

Z2=3% .9+ and N < N@) -
Ly Trove that Z[] is o PID.
c) Pove that Z Tl = 3rd, +e, Ty

( This problees docs not need o hel ) Lot Hhe Pollonsing micture can be helpdul -
P 1 T i

;- Let n ‘De, N So\um-‘eref, l‘h'Leaﬂr Mmore ‘H\om 3. Le+
ZI{-n1 = %LO\-\-JZY—\ L.»\ a, Lezz
©@ TFove that 2, {0, 2= are oll imeducible i Z 0.

(b) Find om clemert in R cohich s |'rrec\v\ciue P Pime

©) Shoewy that Z[{-n] is net a« UFD.
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